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HK'’s quest for carbon neutrality

Vocabularies List

1. Consumption (n) j&%%
Industrial cities have high consumption of electricity.

2. Historic (adj) BESREHMN

Hong Kong has many historic buildings and landmarks.

3. Offset (v) EH
Exercising can offset some of the calories that we consume.

HK’s quest for
carbon neutrality

&

4. Absorb (v) I&Yg
Vegetables can become toxic if they absorb pollutants from the soil.

5. Priority (n) 8%
The safety of workers must be the top priority of construction companies.

6. Subsequently (adv) FE7&h
The suspect was charged with robbery and subsequently convicted of the crime.

7. Strengthen (v) fn5&
The government is taking measures to strengthen the economy.

8. Current (adj) IR1THY
People are worried about the current state of the economy.

9. Specifically (adv) Ef&mME
The campaign addresses city cleanliness, specifically littering on the streets.

10. Myriad (adj)
A weak property market can created myriad public financial problems.

Now, you write it!

Make your own ‘Vocab-Book’ as comprehensive as possible. Write down words that you are not familiar with from
the article HK’s quest for carbon neutrality :
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12.
13.
14.
15.
16.
17.
18.
19.
20.
21.

22.

. Carbon neutrality
. Measure

. Climate change

. United Nations

. COP238

. Fossil fuel

. Norway

. Carbon footprint

. Zero-carbon

Carbon emissions
Commuting

Afforestation

Renewable energy certificate
Carbon trading

European Parliament
Atmosphere

Carbon sink

Electricity power generation
Fuel mix

Waste-to-energy facility
Decarbonising

Hong Kong Climate Action Plan
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Question Types

Specific factual / Multiple choice

1. Why can’t we know for sure at this stage whether and how much the switch to renewable energy sources
could cost citizens?

1. Because the calculations are not straightforward
2. Because there are a host of related costs
3. Because the cost of fossil fuels is going up

4. Because wind and solar energies are more expensive

A. 1 and 2 only
B. 2 and 3 only
C. 1and 2 and 3 only

D.1,2,3and 4

Language usage / Underlining

2. ‘But in setting out the net-zero power generation targets, the Climate Action Plan noted the importance of
affordability but also stated that “decarbonisation comes at a price”.’

Underline the part of the sentence that indicates that reducing carbon emissions is going to carry costs.
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Read the article and answer the questions:

1. Are the following statements True (T), False (F) or Not Given (NG)?

(i) COP28 was completed in December 2023.

(ii) Espen Barth Eide is a high official of Norway.

(iii) Power generation is the biggest culprit of local carbon emissions.

(iv) Waste-to-energy electricity can meet up to four percent of local power needs by 2035.

(v) There is a floating power generation system at the Plover Cove Reservoir.

2. Why was the COP28 agreement on fossil fuels described as “historic”?

3. What are carbon sinks, and where can we find them in nature?
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4. What are Hong Kong’s targets in respect of the fuel mix for power generation?

5. Complete the sentences by filling the gaps. Use ONE WORD only from the article, in the form that is grammatically
correct in the context of the sentence.

(i) To achieve net-zero power generation, reducing carbon emissions from the process must be the top

(ii) To phase out coal, different renewable are being developed for power generation.

(iii) Several floating generations systems have been installed at a few local

(iv) People want to know if measures will make them pay more for electricity.



